Nursery/Reception

Trial anel Denial

How many chicks can
you count?

P is for Peter
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How many Cockerels can
you count?
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Year1 & 2
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Circle 2 things used to make a fire
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Help Peter to follow Jesus to the fire ‘%/ \G B ) ’/ ‘
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As Tor God His
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Psallin 18:30




Trial and Denial

Peter did this 3 times
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The cockerel did this 2 times
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As Tor God way (s
periect
Psallm 18:30

Years 3 -6

RNLFVMILEYYFTYMNT
NJDOOHAMPDODWL I LI1YS
COVHTLBIORETIPYHDE Twice Crowed
XVCWYTLADRGGSAOE I cockerel Maid
VPVSXI|IZOEEWFGRXNR .
JFCMXHSKWERKINTY | p Three Fire
EPRPPFCHPEBVYVQEAQEH Betray Hit
SFOLIOLTWJDVEBEBWDG Spit Denied
UAWVCZZKHGZYQTCV I Guilty Temple
SLEDFGYSS I CIEJIWH jos False
YSDEUJIROLICIMLQQ . .
BERGRPHI ZZ 1 mDEJRrT HighPriest
REJTUZYEPWTMDLFKN Followed Peter
EHYHI I BFTINTSPSXM
TQJRGTLEIQFMHMCYVT
EEHEJKKTNRTXYEPCE
PJTEFXMBYWEDKTSKSZC

Truth or Lie? TRUTH LIE

Peter sat by the lake

Jesus was taken to the High Priest

A soldier came and spoke to Peter

The witnesses all told lies about
Jesus

Peter denied knowing Jesus three
times

A dog barked twice after Peter
denied Jesus
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